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In the two sets given below, Set-1 provides the different levels of learning according to

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (O (c)
(1) a) @ (iii)
(2) (1) (i1) (111)
(3) av) () @
(4) @y Q) @)
Options:

645350636399, 1
64535063700, 2
E4E350639701. 3
EAE35063702. 4

@)
(11)
(111)
(v)

(d)

(iv)
@av)
(i)
(i)

Set-I1
(Examples)

Identifying examples of a given concept
Generating new ideas
Recalling information

Isolating information into parts

Question Number : 1 Question Id : 64635017746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535069699,

1
E4E35083700. 2
E4E35063701. 3
BAE35063702. 4

Question Number : 2 Question Id : 64635017747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) (Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

4835069703, 1
E4E35089704. 2
4535069705, 5
4535069706, 4

Question Number : 2 Question |d : 64635017747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535069703, 1
64535069704, 2
E4E35089705. 2
E4E35089706. 4

Question Number : 3 Question Id : 64635017748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podcast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

64635069707, 1
64535069708, 2
64535069709, 2
E4E35089710. 4

Question Number : 3 Question Id : 64635017748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535063707, 1
EAdEZ50E3708. 2
E4BZ50E3709. 3



EAE35063710. 4

Question Number : 4 Question Id : 64635017749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

E4E35063711. 1
BAE35063712. 2
64535063713, 3
645350639714, 4

Question Number : 4 Question Id : 64635017749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535063711, 1
64535063712, 2
E4E35069713. 3
EAE35063714. 4

Question Number : 5 Question Id : 64635017750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below identify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i11) Informing the learner of the objectives

(1v)  Stimulating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1 @ ay )  av)
(2) @) @y vy )
(3) @ @@ W (vi)
4) @) ) @) @)
Options:

64535069715,
64535069716,
4835069717,
4535069718,

[ N

Question Number : 5 Question Id : 64635017750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635069715, 1
E4E35089716. 2
64535069717, 5
64535069718, 4

Question Number : 6 Question Id : 64635017751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535069719, 1
64535069720 2
E4E35089721. 2
E4E35089722. 4

Question Number : 6 Question Id : 64635017751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535069719, 1
E4E35089720. 2
E4E35089721. 2
4535069722, 4

Question Number : 7 Question Id : 64635017752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64635069723, 1
64535069724, 2
64535069725 2
E4E35089726. 4

Question Number : 7 Question Id : 64635017752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535069723, 1
4835089724 2
4535089725 2
64535069726, 4

Question Number : 8 Question Id : 64635017753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and malking use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535069727, 1
E4E3508972E. 2
4535089729 2
64535069720, 4

Question Number : 8 Question Id : 64635017753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635069727, 1
64535069728, 2
64535069729, 2
4835089720 4

Question Number : 9 Question Id : 64635017754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What 1s the dependent variable in this study?

(1) Level of agpiration of students (2) Socio-economic backeround of students
(3) Scholastic performance of students (4) Term end evaluation
Options:



EAE35063731. 1
BAE35063732. 2
B4E35063733. 3
645350639734, 4

Question Number : 9 Question Id : 64635017754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535063731, 1
EAE35069732. 2
EAE35063733. 3
BAE35063734. 4

Question Number : 10 Question Id : 64635017755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

64635069735, 1
64535069736, 2
64535069737, 2
E4E3508973E. 4

Question Number : 10 Question Id : 64635017755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35063735. 1
BAE35063736. 2
BAE35083737. 3
64535063738, 4

Sub-Section Number: 2
Sub-Section 1d: 646350859
Question Shuffling Allowed : Yes

Question Id : 64635017756 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 18 for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyved up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light 1in hiterature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubiec. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When you are a little older,
vou will find that criticism i1s not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635017757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a gemus while not being one
(2) The geniug can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



EAE35063739. 1
BAE35063740. 2
64535063741, 3
45350639742, 4

Question Number : 12 Question Id : 64635017758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
64635069743, 1
64635069744, 2
£48350689745. 3
64635069746, 4

Question Number : 13 Question Id : 64635017759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage 1s

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4635069747, 1
64535069748, 2
64535069749 =
64535069750, 4

Question Number : 14 Question Id : 64635017760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64635069751, 1
64535069752, 2
64535069753 2
4835089754 4

Question Number : 15 Question Id : 64635017761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

4535069755 1
64535069756, 2
64535069757, o
64535069758, 4

Question Id : 64635017756 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635017757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635069739, 1
4535089740, 2
64535069741, 5
64535069742, 4

Question Number : 12 Question Id : 64635017758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4835069743, 1
64535069744, 2
64535069745 o
64535069746, 4

Question Number : 13 Question Id : 64635017759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4535063747. 1
EAEZ5063745. 2
E4E35063745. 3
EAE35063750. 4

Question Number : 14 Question Id : 64635017760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535063751, 1

EAE35069752. 2
EAE35063753. 3
EAE35063754. 4

Question Number : 15 Question Id : 64635017761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535063755 1

EAE3506975E. 2
EAE35063757. 3
E4E35063758. 4

Sub-Section Number: 3
Sub-Section Id: 646350860
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635017762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
@  (a), (b) and (¢)
3  (a), © and (d)
(4) (a) and (d) only

Options:

64535069759, 1
E4E350897E0. 2
4535089761, 2
4535069762, 4

Question Number : 16 Question Id : 64635017762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635069759, 1
64535069760, 2
64535069761, =
E4E350897E2. 4

Question Number : 17 Question Id : 64635017763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

E4E35063763. 1
BAE35063764. 2
64535063765, 3
E453506376E. 4

Question Number : 17 Question Id : 64635017763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35063763. 1
BAE35063764. 2
B4E535063765. 3
64535063766, 4

Question Number : 18 Question Id : 64635017764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

EAE3S0637EY. 1
EAE3506376E. 2
EAE35063769. 3
BAE35063770. 4

Question Number : 18 Question Id : 64635017764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE3506376Y. 1
BAE35063768. 2
64535063769, 3
EAE35063770. 4

Question Number : 19 Question Id : 64635017765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

E4E35083771. 1
EAE3IS0E37 72 2
BAE35063773. 3
BAE350637 74, 4

Question Number : 19 Question Id : 64635017765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B4E35063771. 1
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64535063773, 3
EA535063774. 4

Question Number : 20 Question Id : 64635017766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (11) Electro-magnetic impulses
) Message (1m)  The central nervous system
(d) Medium 1v) Sensory organs

Choose the correct answer from the options given below

@ (b (©) (d)

(1) @ (i) (i1) av)
(2) ) @ av) ()
(3) av) @ (11) (i11)
(4) @ Gv @ Q)
Options:
64535069775,
E4E3508977E,

EABZS0E37 7Y,
EAE350637 78,

o LIRS

Question Number : 20 Question Id : 64635017766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ gHfeTa i

gz - 1 gz - 11
(T3YT F aed) (seRH- 9T 1 faaa)
() HIUTH @) afEass
(b) =AIEH (i) AeraesFg e
(c) ®@ew (i) PR S T
(dy W (v) HaE
A=t e g frew # & adt 3w 9w

1 @-@, b -0), -0, d-av
@  (@-@), b)) -0, ©-av), d - @)
@) @-av), (b -Q), ) - @), (d) - (u)
@  (@-), ®)-av), ©-an), d -0

Options:

64535069775, 1

64535069776, 2

EAE350E3777. 3
EABE3S06377E. 4

Question Number : 21 Question Id : 64635017767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
4  IJT
Options:

BAE350637759. 1
64535063750, 2



EAE35063781. 3
BAE35063752. 4

Question Number : 21 Question Id : 64635017767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o fasen & faa wum 6 qfd Fifomg
TEF, UGH, , WKL
(1) CMN
@  UJI
3 VIJ
@ LJT
Options:

EAE350637739. 1
E4E35063780. 2
E4E35063781. 3
64535063752, 4

Question Number : 22 Question Id : 64635017768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
E4dE35089783. 1
4535063754, 2
646350697585, 3
4635069756, 4

Question Number : 22 Question Id : 64635017768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafiaa § o fora auiTers aifisrdl om 8 fae o feem #1090 923 3 g 2

(1)  weHH

(2)  HEATFHAN
(3)  SEEEA
(4)  wIdE =H

Options:
4535069753 1

EAEZ5063754. 2
EAE35063785. 3
BAE35063756. 4

Question Number : 23 Question Id : 64635017769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 1s the value of the

ratio>?

X

(1) 0.75 (2) 0.80
(3) 1.20 @ 125

Options:

64535069787,
4835069788,
E4E35069789.
4535069730,

o IR

Question Number : 23 Question Id : 64635017769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A x o y T T T § N xy T 25% At 2@ 2w oHE B
x

L 075 (2) 0.80
@ 120 @ 195
Options:

EAE35063757. 1
B4E535063788. 2
64535069759, 3
64535083730, 4



Question Number : 24 Question Id : 64635017770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhabitants of a village having died of malaria, a panice set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 2 5250
(3) 6250 (4) 7500
Options:

6453506397391, 1
EAEZ5063732. 2
EAE350637393. 3
BAE35063754. 4

Question Number : 24 Question Id : 64635017770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt i % 5% FanfiEi & AeifEr § 9 @9 % d1e QU W HAGAE g T 39h qRA 9 AETiEn 3 9
20% < M SEH FT Ol M e afmrasy ma fi AR gew 4750 @ T T F g
AftaniET f @ 2

(1) 5000 (2) 5250
(3) 6250 4 7500
Options:

64535063731, 1
E4E35089732. 2
EAEZ5063733. 3
EAE350637394. 4

Question Number : 25 Question Id : 64635017771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the simple interest on a certain sum for 1 year 3 months at 8}2—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) HKs. 8000
Options:

E4E350837395. 1
EAE35063736. 2
BAE35063737. 3
64535063735, 4

Question Number : 25 Question Id : 64635017771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft g=rafsn @1 aramor sars 84%% dfdad fi 22 4 1 ad 3 AE H 3041 & gaul w 8 HER H 7%
yfqad 6t sl 2 & 45% & Al g sar &, a1 g8 s 2

(1) 600 %. (2) 800=.
(3) 6000, 4) 8000 .
Options:

64535063735, 1
EAE3506973E. 2
EAE35063737. 3
BAE35063738. 4

Question Number : 26 Question Id : 64635017772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ i1s taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 1s pencil (4) Some pens are pencils
Options:

6453506373959, 1
64535063800, 2
E4E35063801. 3
EAE3506380Z. 4

Question Number : 26 Question Id : 64635017772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe aF aEg ol W e A8 2 F oo " formn Su at FAefafiaa 4 9 0 96 9 9 8@
Fﬁ'ﬁ’l%:

(1) ot o U 44 2 2 @ tFaa = )
@ R ol T AR A 2 @) % U i #
Options:

B4E35063795. 1
64535083800, 2
64535063801, 3
E453508380Z. 4

Question Number : 27 Question Id : 64635017773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 1s bulb

Select the correct answer from the options given below :

D (@, b)© (2) (a)and (d)
(3) () only 4 (D), () and (d)
Options:

64535063803 1
64535083804, 2
E4EZ5063805. 3
EAE35063806. 4

Question Number : 27 Question Id : 64635017773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e aey feu o #, ToAm =m feed gra fRe g e snan al & Fefofaa 8 S8 g
Ferd &9 w9 O wiH fou S Had 27

A A ;o () ot T oo F )
(i) sl gl A4 2|

Elea] 1 (a) UM ded A 21
by =ft == 9g 2
© U ¥od 21
(d) = i ZE e A 2
A o e Frwet § & wd s afe
(1) (@, b)), © 2 (a) ()
@) ¥ (a) @ ), ) R’ (d
Options:

B4535063803. 1
64535063804, 2
64535063805, 3
EAE3506380E6. 4



Question Number : 28 Question Id : 64635017774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises 1s same but they differ only in quantity, it

18 known as

(1) Subaltern

(2) Contraries

(3) Subcontraries
(4) Contradictories

Options:

64535069807, 1
64535069808, 2
645350693809, 2
4835089810 4

Question Number : 28 Question Id : 64635017774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl GHI ATaR Al < 32T AT faum gae 2, foeq 3t aen B 2 91 g9l TR &9 d ST St 2

(1) T

2  foufia g

@  3u-foula wg

(4)  femarar
Options:

64535063807, 1
64535083808, 2
E4E35063803. 3
EAE35063810. 4

Question Number : 29 Question Id : 64635017775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

Writing on paper 1s similar to writing on the board’.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
4532508595111
4035069512, 2
64635069513 2
46535069514 4

Question Number : 29 Question Id : 64635017775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiad 9% # 9 $i vgam e e 7 g N2 waEd & wgu g |

(1) P
(2) g A
(3) G AT

(4) HATTHATHS
Options:
64635069511, 1
64635069812, 2
4535063513, 2
64635069514 4

Question Number : 30 Question Id : 64635017776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2 (a) and (b)
(3) (b) only

@  (b)and ()
Options:
4535069815, 1
645350695816, 2
64535069817, o
64535069818, 4

Question Number : 30 Question Id : 64635017776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a% ared | oadl afvn gftd 27 Refafia # 3 R ok e % oedged 2

(@ g il el 2l A 2

b)  FE o =i gfarfza A8 2

© @iz Wl uxht g % sy s a2
@ g ot g, ot A 2

5y o o, faerent 6 & T e A

O O, e W@
@ @O
@ ¥« (a)

@ (b R (o)

Options:
64535069515, 1

E4E3506381E. 2
EAE35063817. 3
E4E350638158. 4

Sub-Section Number: 4
Sub-Section Id: 646350861
Question Shuffling Allowed : Yes

Question Id : 64635017777 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, Q,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 2300
Q 350 400
R 250 1510,
S 200 350
T 400 250

Sub questions

Question Number : 31 Question Id : 64635017778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T' at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

E4E350635819. 1
BAE35063820. 2
64535063821, 3
E4E350E3822. 4

Question Number : 32 Question Id : 64635017779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

EAE35063823. 1
E4E35063824. 2



EAE35063825. 3
EAE35063826. 4

Question Number : 33 Question Id : 64635017780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

(0 2:8
2) 314
B 1:2
(4) d:5
Options:
64535069827, 1
E4E3508982E8. 2
4535089829 2
64535069820, 4

Question Number : 34 Question Id : 64635017781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 (4) 160
Options:

645350638351, 1
64535063832, 2
E4E53508383E. 3
EAEZ5063824. 4

Question Number : 35 Question Id : 64635017782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
3 300 4) 840
Options:

E4E35063835. 1
EAE35063836. 2
EAE35063837. 3
E4E535063838. 4



Question Id : 64635017777 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Fffiga arferer ot fa=m $ifse, S v f@em 7 w e - o i e - & d o= feedi-i ey,
An, v o1 & F BEwd fi o gen fi W auid 21 g9 aifde % aar wog@ e gl (vee g
31-35) % 3 difor:

formram feew-femal i sl
e ferraTeR
T Eil
ot 200 300
| 350 400
aw | 250 350
o 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635017778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-v @ fhen-& 6 owl f1 15 fewd 6 gem = yfdea FAaEr-v @ Gea-dt < &= o0
femral =i wwean 6t qoFT § foar an?

(1) 220 yidwd (2) 200 yfdvE
(3) 210 yiqwd 4) 190 yfes@
Options:

645350635819, 1
E4535083820. 2
EAEZ5063821. 3
EAEZ5063822. 4

Question Number : 32 Question Id : 64635017779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aHil FrsTeti-u, ST sft 1 e 0 fhon-a9 it fon- = i fishl 61 @ fowdl i 5 e fead 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

64535063823, 1
E4E35063824. 2
EAEZS063825. 3
EAE35063826. 4

Question Number : 33 Question Id : 64635017780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot W feen-dt 6t fasht $t 78 el 6t g = wuE fRmmEe- v fFen-ay e Geft &
fesrdl 6 qaT | ferar 2:

R 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

EAE35063827. 1
EAE35063828. 2
B4E35063825. 3
64535063820, 4

Question Number : 34 Question Id : 64635017781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-v v g fyen w ot el i feht 6 13 el it wa den it Rearer-d o ga faen &
ot fecHi it fosht it 73 fewdl i v gen F e v feen 27

(1) 180 (@ 170
(3) 150 (4) 160
Options:

E4E35063821. 1
E4E35063832. 2
E4E535063833. 3



EAE35063824. 4

Question Number : 35 Question Id : 64635017782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forwre-sft ot fon-4t eiiv um $i e Ware skt $ 0 2w $1 sfoa gen feadf 22

1) 360 (2) 320
(3) 300 (4) 340
Options:

64535063535, 1
64535063836, 2
EAE3S0E383Y. 3
EAE3506383E. 4

Sub-Section Number: 5
Sub-Section I1d: 646350862
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635017783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
| i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1) Ponly (2) Q only
(3) Both P and Q (4) Neither P nor @
Options:

E4E35063839. 1
64535063840, 2
6453506395841, 3
E4E3505354Z. 4

Question Number : 36 Question Id : 64635017783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiaa 4 @ #a /w8 w9 g @ & % o d w12 2/77

P®) . A e uiEd 2, R aerd FeReE Ut st e (e vE giaer et
T 21
@ gurasi e § 2t sadR % fau 2 O & 1 avrdt soe ol SendiE F oo v a=s
ST %71 32E 2 |
1) % (P) (2 e Q)
@ (@) =@ aF 4) Fd @) HATd Q)
Options:
C4E2E08495859. 1
C4E25089840. 2
LdE2E069541. 2
C4EZE0ET9E42. 4

Question Number : 37 Question Id : 64635017784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware 1in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
systems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:

E4E35069543. 1
64535069844, 2
64535069845 =
64535069846, 4

Question Number : 37 Question Id : 64635017784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



YR HTF2AAE & e U TIrEagy 491 27
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e &l 2 |
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Options:
64635059843,
646350695844,
64635069845.
64635059846

o IR

Question Number : 38 Question Id : 64635017785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1its content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

45350695471

C4EZE0E9E4E. 2

E4E35063848. 3
E4E35063850. 4

Question Number : 38 Question Id : 64635017785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFefafaa 5 9 =9 fadh (Wiki) =1 399 e 2ar 2:

(1) & yonell, St ITERTRAlA] 1 Uh JaEEe 9 gl Sied adt 2, <ifee g | e e ot gemn
= fafda w3 81 &t |

(2) Ok qolel, S Gead ©9 3 e Ao A A% [Avaa o TRV IR araie B erat ot 2
(3) U 9UIel, S A & 8 A v safdana e & w1 1@ e wdt 2
4) U wunelt, St U sArT F oia Areied & FIRE S 2

Options:



EAE35063847. 1
64535063848, 2
64535063845, 3
64535063850, 4

Question Number : 39 Question Id : 64635017786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym
VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
64535063851, 1
64535063852, 2
435069852 2
64535063554, 4

Question Number : 39 Question Id : 64635017786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wetel! 1 s SAeng TreE=dl WH i F fore dun fR e v atveds 3uer U § 3w
F1 2 | 21 ufiaef & vet § @ 9 9 2

(1)  difgal afFHT FHaEEse
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Options:

645350695851, 1
E4E35089852. 2
4535089852 =2
64535069854, 4

Question Number : 40 Question Id : 64635017787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1 102
@ 204
3 153
@ 5l
Options:

64535063855, 1
E4EZ5063856. 2
E4E35063857. 3
E4E535063858. 4

Question Number : 40 Question Id : 64635017787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=rha 1100110 =1 T9geH G¥HeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

64535063855, 1
E4EZ5063856. 2
E4E35063857. 3
E4E535063858. 4

Question Number : 41 Question Id : 64635017788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

1) Water that 1s beluind a dam

(11) Radio signals

(i11)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) @, ), av) and (V)
(2) @, @), (1) and (v1)
(3) (@), Gum), Gv) and (v)

(4) (@), @v), (v) and (v)

Options:

64535069859,
64535069360,
4835069361,
45350695862,

o P

Question Number : 41 Question Id : 64635017788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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A= fou g, foreren O & o I gAY

(i) a9 & fi 1 S

Gi) Al a%a®

(i)  GEAIY 92T g1 faHA

Gv) 92U H g Tt O 3wz

) Fefaa e

(vi)  HEWHTT ¥ Icq IS
fareu

Q) @, i), (v) # @)
@ ), @), (i) #N (Vi)
(3 G, (i), (v) I )
@ QD) (v), v) 3 (Vi)

Options:

64535069359, 1
E4E350898E0. 2
64535069861, o
4535069862, 4

Question Number : 42 Question Id : 64635017789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Statement I : The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement II : Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor IT

Options:
64535069363, 1
4835089864, 2



EAE35063865. 3
EAE3506386E6. 4

Question Number : 42 Question Id : 64635017789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) (D)
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@ @A aE
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Options:
4535069563, 1

EAEZ5063864. 2
E4E35063865. 3
EAE3506386E6. 4

Question Number : 43 Question Id : 64635017790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
EAEZE0898687. 1
4035069568, 2
64635069569, 3
4635069570, 4

Question Number : 43 Question Id : 64635017790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  &iwEm T, 1972

@  frear & sefien adie, 1992
(8)  SirEwgsri fraw o, 2002
(4  f=l +20 g9er, 2012

Options:

64535069867, 1
64535069868, 2
E4E35089869. 2
E4E35089870. 4

Question Number : 44 Question Id : 64635017791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)), ©
@ (b)) @D
@ @ 0 @
@ (@), b) @

Options:

646350693871, 1
E4E3S089E72. 2
64535069573, 5
4535069874, 4

Question Number : 44 Question Id : 64635017791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1)  ABISH & AlFEed

@)  uew % sAieuEe

(3) 4w gH

(4)  FEA HAGFAREE

A fow e g ¥ & wd I g

1 @, b), 0
@ B © W
@ (@, ©), W@
@ @ b d

Options:

645350695871, 1
E4E35089E72. 2
E4E35089E872. 2
64535069574, 4

Question Number : 45 Question Id : 64635017792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

64535063875, 1
EAE3S0E387E. 2
EAEZIS0E387Y. 3
EAE35063878. 4

Question Number : 45 Question Id : 64635017792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fefafiga 9 @ #=9 Hifas-witios i i goft | s 27

1)  mE (2) femam
(3) ATHMEF ST (4) st
Options:

E4dEZ50835875. 1
E4BZE0E3E7E. 2



EAEZIS0E387Y. 3
EAE35063878. 4

Question Number : 46 Question Id : 64635017793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
1n order to

(1) Encourage Indian Scholars to learn abroad
(2) Discourage Indian Scholars from researching in India
(3) Encourage global scholars engage with their counter parts in India

(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64535069879, 1
64535069880, 2
64535069881, 2
E4E3S0898382. 4

Question Number : 46 Question Id : 64635017793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YT TCHN BT o1 218.0. 0. (Toilaa sHfEnfea a1 srheius dzaad) # am & & 3299 &

(1)  WAdE A=Al #i fges d e agu 1 & oo dienfaa &)

(2)  vndE @Al B 9 J Mg w1 3 gdieanad 1|

(3)  aAfvas wAwadl 1 URd H He quaradl & a1y B FF FH F e dieied F60
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Options:

4535069579, 1
64535069880, 2
64535069881, o
64535069882, 4

Question Number : 47 Question Id : 64635017794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (2) Learning from the teacher
(3) Learning from thinlking (4) Learning through instructional material
Options:

E4E350638E3. 1



EAE350638854. 2
E4E535063885. 3
E4E35063856. 4

Question Number : 47 Question Id : 64635017794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefrfaga @ 9 v v 3 e ez & us AEvas ued 27

(1) gl ° HigA (2) o= o dign
@)  faaT | " (4) SFeTETHS Gl & wreEm o e
Options:

64535063852, 1
EAEZ5063854. 2
E4E35063885. 3
EAE35063856. 4

Question Number : 48 Question Id : 64635017795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has e1ven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

E4535063857. 1
64535063888, 2
EAE3S0638E9. 3
EAE35063830. 4

Question Number : 48 Question Id : 64635017795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefefiga 9 @ ara & foem gemdfa gomn & e d aee i’ o fa @ foan mn

(1)  derd geadia e (2) el gl A
(3)  zudl g=EdE FeE (4) Rl vEEdi AeAT
Options:

B4E35063857. 1
E4E535063888. 2
64535063859, 3
64535083530, 4



Question Number : 49 Question Id : 64635017796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the muddle of 20t Century in India 1s indicative
of which one of the following aspects?

1)  Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(111) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only (1) and (111)
(2) Only (i) and (iii)
(3) Only (ii1)

(4) Only (1) and (1)

Options:

45350695891, 1
4535069892, 2
64535069893 2
64535069594, 4

Question Number : 49 Question Id : 64635017796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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()  WNE H I AT AN g & uAiE g w1 emE |

Gi) o 2o ft 39 o @ ufaw-g i awman, St faemsfia 2s & g 7 981 o)
(i)  SHEEETH g A ARE SEEAl w1 Ad- I

1 R o, freedi # @ ad fwen gfo:

(1) *aa (i) SN (jii)
(2) Fad (i) AN (i)

(3) Fae (iil)
(4) Fad (1) AT (i)
Options:

6453506358391, 1
E4E535083832. 2
EAEZ50638393. 3
E4E35063894. 4



Question Number : 50 Question Id : 64635017797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier organisation established 1n India to deal with capacity bullding and research in
planning and management of education in India and South Asia is

(1) ATU (2) SAARC University
(3) NUEPA (4) Nalanda Unmversity
Options:

64535063835, 1
EAE3S06383E. 2
EAE35063837. 3
E4E350638398. 4

Question Number : 50 Question Id : 64635017797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g A1 2o uyEr | e F FEeE o ydeq 6 gear w0 99 F 3Ry O 9nd § ©nfud R
T & WS AT 2

(1) uaE.g, (2) ar% gRafdd (SAARC University)
(3 w.gidu, (@) Awe fafvaenea
Options:

645350635395, 1
64535063836, 2
E4E535083837. 3
EAEZ50638395. 4

PART 11 Economucs

Section Id : 646350392

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 94

Number of Questionsto be attempted: 94

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 646350863
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635017798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-I List-II

(a) Various combinations that a (1) Indifference map
consumer can purchase

(b) Various combinations of two (1)  Indifference curve

commodities providing equal
satisfaction to consumer

(¢} A set ofindifference curves (11) Budget line

(d) Point of tangency of a budget line (1v)  Consumer’s equilibrium
on an indifference curve

Choose the correct option from those given below :
1 (@1, ()i, (e)iv); (d)—iil)
2. (a)-av); (b)-(u); (c)—1), (d)—(1)
3. (a)-); (b)-m); (e)-(v); (d)~1)
4. (a)-(u); (b)-u); (c)-1); (D)-Gv)

Options:

64535069599,
64535063300,
48350693901,
4535069302,

o P

Question Number : 51 Question Id : 64635017798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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-1 -1
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1. (a)-@); (b)-); (¢)-(v); (d)-(11)
2. (a)-Qv); (b)) ()@, (d)-1)
3. (a)-(); (b)—1i); ()v); (d)~1)
4. (a)y-(n); (b)-(); ()-1); (d)-Ov)

Options:

4635069599, 1
64535069900, 2
64535069301, =
64535069302, 4

Question Number : 52 Question Id : 64635017799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are true regarding Cobb-Douglas production
function?

(a) It is long period production function
(b) It 1s short period production function
(c) It is based on increasing returns to scale

(d)  Output elasticities with respect to factors are constant

Select the correct option :
1. (a)and(c)
2. (a)and(d)
3. (b)and(c)
4. (c)and (d)
Options:

E4E35063303. 1
E4E350633904. 2
E4535063305. 3
64535063306, 4

Question Number : 52 Question Id : 64635017799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. (a) 3R (c)
2. (a) 3R (d)
3. (b) 3R (e)
4. (¢) 3R (d)
Options:
C4dE3E059303,
C4EZE0E9904,

E4E35063305,
EAE350633906,

o LIRS

Question Number : 53 Question Id : 64635017800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following methods of selecting a strategy is consistent with risk averting
behaviour?

1. If two strategies have the same expected profit, select the one with smaller
standard deviation

2. If two strategies have the same standard deviation, select the one with
smaller expected profit

3. If two strategies have the same standard deviation, select the strategy with
larger coefficient of variation

4. If two strategies have different expected profits, select the one with the
larger standard deviation

Options:



E4E35063307. 1
E45350633908. 2
64535063305, 3
645350633910, 4

Question Number : 53 Question Id : 64635017800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. T WEEl & g o @ g, @ SR e faees o & g

Options:

64535069007, 1
64535069908, 2
64535069309, =
4835089910 4

[S—

Question Number : 54 Question Id : 64635017801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Under non-cooperative games, 1t 1s

[t

essential to understand one’s opponent’s point of view
2. not essential to understand one’s opponent’s point of view

3.  essential to understand one’s opponent’s point of view and to deduce his
likely responses accordingly

4. essential to understand one’s opponent’s likely responses
Options:
64635089911, 1
£4635069912. 2
£4635069913. 3
64635069914, 4

Question Number : 54 Question Id : 64635017801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TSNS piatsll & sfarid
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4. U= viquel St guifaa sFfaTeit &1 HgE ag® €
Options:
E4EZE0E9911. 1
CAEZE0s9912. 2
45250859913 2
4525089914 4

Sub-Section Number: 2
Sub-Section 1d: 646350864
Question Shuffling Allowed : Yes

Question Id : 64635017802 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (55to 57)
Juestion Label - Comprehension

Direction : Go through the following paragraph and diagram and answer the questions
given below :

Monopoly charges a price above marginal cost, not all consumers who value the good at
more than its cost, buy it. Thus, the quantity produced and sold by a monopoly 1s below the
socially efficient level. The deadweight loss represented by the area of the triangle between
the demand curve and the marginal cost curve.

A
¥

[l
Brice F .»/E \
Demand Curve

Sub questions

Question Number : 55 Question Id : 64635017803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



What price will be charged under monopoly?

1. OF
3. X6
3. OE
4.  OG

Options:
645350635915 1

E4E3506391E. 2
E4E35063917. 3
E4E350639158. 4

Question Number : 56 Question Id : 64635017804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which 1s the socially efficient level of production?

1. G
2. OX°
3 A%
T

Options:

64635069919, 1
64535069320, 2
64535069321, 2
4835089922, 4

Question Number : 57 Question Id : 64635017805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Deadweight loss is represented by the area of

1. XA
2, KX ECK
3. OX'AE
4.  BAC

Options:



EAE35063923. 1
BAE35063924. 2
B4E35063925. 3
E4E53506392E. 4

Question Id : 64635017802 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (55t057)
Question Label . Comprehension
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USSR Hidid ard 3 3ifie Je agad ¢ 1 3 9 IuHied, St a%g 3 ard S ga- H a%g Bl
e &d B, 9o TWad §1 o USIUeR! gRT Idied 3R f3wma @t M8 A6 9mifse U 4
HId TR J 19 St 81 1T 9% 3R Hwid @ 9% & §" B ot 87 '3 3¢ a9’ (88 9¢
gy &1 ufaffie s 21

L)
]
=
)

P ¥

Sub questions

Question Number : 55 Question Id : 64635017803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

USSR & T 31 §ed I9d fHan s

1. OF
2. e
3. OE
4. OG

Options:

64535069915, 1
64535069916, 2
64535069917, 5
64535059918, 4

Question Number : 56 Question Id : 64635017804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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. &xF
2. a¥
) &
4. X

Options:

64535069919, 1
64535069920, 2
64535069921, 5
64535069922, 4

Question Number : 57 Question Id : 64635017805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foraent & 'S8 3¢ aiT’ &1 wiafTie Harg?
1. XXed
2. NBex
3. OX4E

4. BAC

Options:

64635069923, 1
4835089924, 2
64535069925, 5
4535069926, 4

Sub-Section Number : 3
Sub-Section I1d: 646350865
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 64635017806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The firms are compeftitive and profit maximizing the demand curve for labour is
determined by

1.  the opportunity cost of workers’ time

2. the value of marginal product of labour
3.  offsetting income and substitution effect
4. the value of marginal product of capital

Options:

4535069527, 1
64535069928, 2
64535069929, o
64535059330, 4

Question Number : 58 Question Id : 64635017806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wH vforaelf o siftimas @y S aTeht € o fows gRT o &1 | 9 Fuiva fan s
87

. Hoigd & THT B EWR-AFd gRI

2. M HIWid IAE S G gRT

3.  UldeR® 3 3R RFGFd THE gRI
4. Yot % did IO & g3 G

Options:

64535069927, 1
4835089928, 2
64535069929, 5
64535069920 4

Question Number : 59 Question Id : 64635017807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



General equilibrium analysis determines
1. prces and quantities in all markets simultaneously

2. prces and quanfities in all markets simultaneously and explicitly takes
feedback effects into account

3.  feedback effects
4. pnces in all markets

Options:

64635069931, 1
E4E35089932. 2
4535089922 2
64535069924, 4

Question Number : 59 Question Id : 64635017807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YA g Az i s g
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2. 9t SR § veay geui iR AEs & 3R Wy U ¥ ulayfy @lisds) o
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Options:

64535069931, 1
64535069932, 2
64535069922, 5
64535059934, 4

Question Number : 60 Question Id : 64635017808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Pareto’s marginal condition for efficiency in composition of output (product-mix)
requires

1. MRTS¥, =MRTS/, =MRTSZ,
2. MRSy, =MRS;,=MRS;,
3. MRTP, , =MRS , =MRS; ,

4. MRTSY, =MRS:,=MRSZ,

Options:

64535069935, 1
64535069336, 2
4835089927, 2
4535089928 4

Question Number : 60 Question Id : 64635017808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

forfa (ag-fayyon Y S 8 00 &) Seid <2 & forg amawas 2 -

1. MRTS¥, = MRTS/, =MRTS?
2. MRS:,=MRS:,=MRS:,
3. MRTP, , =MRS:, =MRS%,

4. MRTSY, =MRS? =MRSZ,

Options:

64535069935, 1
64535069336, 2
4835089927, 2
64535069925, 4

Question Number : 61 Question Id : 64635017809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The inconsistency of which one of the following criteria i1s labelled as Scitovsky
Paradox?

L Little criterion
2.  Pareto cniterion
3.  Bergson criterion

4. Kaldor-Hicks criterion

Options:

4835069939, 1
4535089940, 2
64535069941, o
64535069942, 4

Question Number : 61 Question Id : 64635017809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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19 fea man 82

R [ o 7
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Options:

453506959359, 1
64535069940, 2
64535069941, 5
64535059342, 4

Question Number : 62 Question Id : 64635017810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Why do individuals act in nskier ways after being insured?
1.  Due to the problem of adverse selection
2. Due to the problem of false confidence
3.  Due to the problem of moral hazard

4. Due to the problem of screening costs
Options:
64635069943, 1
64635069944, 2
64635069945, 3
64635069946, 4

Question Number : 62 Question Id : 64635017810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hiffa §F & a1 Afen i Sife shfaH el 3 &1d $3d 87
1. vided9a9" o 99 & SR
2. Thr SRy &t gHwl & SR
3. Sfie TR 3 IS & SR

4.  OE-ANTEl B THET & HR

Options:
4535069543 1

E4E35063944, 2
E4E35063945. 3
EAE3506394E. 4

Sub-Section Number: 4
Sub-Section 1d: 646350866
Question Shuffling Allowed : Yes

Question Id : 64635017811 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (63 to 65)
Juestion Label - Comprehension



Direction : Read the passage given below and answer the questions that follow it :

Suppose that for a particular economy for some time period, investment was equal to 100,
government expenditure was equal to 75, net taxes were fixed at 100 and consumption (C)
was given by the consumption function :

=125 Hl.&d s

where ¥ p 1s disposable income and ¥ is GDP.
Sub questions

Question Number : 63 Question Id : 64635017812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What 1s the level of equulibrium income (¥)?

1. 700
2. 600
3. 830
4. 800

Options:
4535069547, 1

E4E35063948. 2
E4E535063945. 3
B4535063350. 4

Question Number : 64 Question Id : 64635017813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the value of the government expenditure multiplier % ?

.
2. 4
3. 6
4. 3

Options:
64535063551 1

E4E350639952. 2
E4E35063953. 3
E4E35063954. 4



Question Number : 65 Question Id : 64635017814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the value of tax multiplier % &

1 -3
. =2
3. 5
4. -4

Options:

64535069955, 1
64535069356, 2
64835089957 2
4535089358, 4

Question Id : 64635017811 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (63 to 65)
Cuesticon Label | Comprehension

frder - Fufafeg o= o ufew ik f3u o uy & I<w difvo
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STel ¥, Ruer 3 ik 7 oft. 2 ot 21

Sub questions

Question Number : 63 Question Id : 64635017812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

| 3T (1) &1 TR 87

1. 700
2. 600
3. 850
4. 800

Options:
64535069947, 1



E4E35063945. 2
E4E535063945. 3
B4535063350. 4

Question Number : 64 Question Id : 64635017813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

WHR! T [0S % BT 7 &1 27

Options:

64535069951, 1
4535089352 2
64535069952,
64535059954, 4

Question Number : 65 Question Id : 64635017814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AF
TP T | —— 87

1 -3
2 =2
3 -5
4. —4

Options:

64535069955, 1
64535069356, 2
64835089957 2
4535089358, 4

Sub-Section Number: 5
Sub-Section 1d: 646350867
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 64635017815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I with List—II :

List-I List-II
(a) Accelerator and multiplier (1) Modigliani, Ando and
interaction Brumberg
(b) Cambndge approach (1)  Akerlofand Yellen
(¢} Life cycle hypothesis (111)  Paul Samuelson
(d) Efficiency wage model (iv)  Alfred Marshal and A. C.
Pigou

Choose the correct option from those given below :
1. (a)-); (B)—v); (e)-(1); (d)—(111)
2. (a)-{u);, (b)-(v); (c)-); (d)—1)
3. (a)yHi); (b)—H1); (e){ui); (d)—v)
4. (a)yHiv); (b)—(ii); (e)-(1); (d)~1)
Options:
64635089959,
£46350689960.

E4535063361.
EAEZS0E30E2,

o IR

Question Number : 66 Question Id : 64635017815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 P gEl-11 | gaferd oifon :
Yat-1 -1
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L (@-); (b)-(v); (c)-(); (d)1i)
2. (a)-(m), (0)-av); (c)-Q); (D)
3. (a)-(); (b)-); ()—ui); (d)-v)
4. (a)-(v); (b)~(ui); (c)-G1); (1)

Options:

64535069959, 1
64535069360, 2
64535069361, =
E4E350899E82. 4

Question Number : 67 Question Id : 64635017816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

An increase in money supply will increase the demand for goods and services by
1.  reducing government spending
2. lowering the interest rate so that investment spending increases
3.  raising interest rate so that investment spending reduces

4. increasing government spending on goods and services

Options:

64635069963, 1
64535069964, 2
64535069365 o
E4E35089966. 4



Question Number : 67 Question Id : 64635017816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45350695963, 1

EAE35063964. 2
E4E535063965. 3
EAE35063966. 4

Question Number : 68 Question Id : 64635017817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The long-term chronic unemployment arising from imbalance between the skills and
other characteristics of workers in the market and the needs of employers 1s known as

[

cyclical unemployment
2. foctional unemployment
3.  structural unemployment

4. seasonal unemployment

Options:

64635069967, 1
64535069968, 2
64535069369, o
E4E35089970. 4

Question Number : 68 Question Id : 64635017817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635069967, 1
64535069968, 2
64535069369, o
E4E35089970. 4

Question Number : 69 Question Id : 64635017818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
As income falls, consumption declines but proportionately less than the decrease in
income because the consumer desires to sustain previous standard of hiving. This 1s

called

ot

ratchet effect

2. wealth effect
3.  demonstration effect

4. mcome effect

Options:

64535069971, 1
64535069972, 2
E4E350899732. 2
4535089974 4

Question Number : 69 Question Id : 64635017818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535069971, 1
64535069972, 2
E4E350899732. 2
4535089974 4

Question Number : 70 Question Id : 64635017819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In efficiency wage model, the real wage is set to
1.  mimmise the efficiency of worker per rupee of real wages received

Z. clear the labour market

-

not to clear the labour market

4. maximise the efficiency of worker per rupee of real wages received

Options:

64635069975, 1
64535069976, 2
64535069377, 2
E4E35089978. 4

Question Number : 70 Question Id : 64635017819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835069975, 1
E4E35089976. 2
64535069977, o
4535069978, 4

Question Number : 71 Question Id : 64635017820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By ‘financial crowding out’ economists mean
1.  credit ratiomng
2. what the government borrows cannot be used for private investment
3. government borrowings drnive up interest rate

4. Reserve Bank of India controls on commercial bank lendings

Options:

64535069979, 1
4835089930, 2
4535089981, 2
64535069982, 4

Question Number : 71 Question Id : 64635017820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535069979, 1
64535069380, 2
64835089981, 2
45350899382 4

Question Number : 72 Question Id : 64635017821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An increase in fiscal spending leads to
1.  ashift of Phillips curve to the left
2. ashift of Phillips curve to the right

3.  movement along the Phillips curve such that unemployment rises
inflation also rises

Options:

64635069983, 1
64535069984, 2
64535069385, =
E4E35089956. 4

Question Number : 72 Question Id : 64635017821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535069983, 1
64535069334, 2
E4E35089985. 2
64535069956, 4

Question Number : 73 Question Id : 64635017822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assume that an economy begins in macroeconomic equilibrium, then taxes are
significantly decreased. As a result of this change

1. there is expansion and deflation in the economy
2. there 1s recession and deflation in the economy
3.  there is expansion and inflation in the economy

4.  there 1s stagflation in the economy

Options:

4535069987, 1
64535069988, 2
64535069389, 2
64535069330, 4

Question Number : 73 Question Id : 64635017822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E350635957. 1

E4E3506398E. 2
EAE35063959. 3
E4E35063930. 4

Question Number : 74 Question Id : 64635017823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The rational expectations hypothesis suggests that the forecasts that people make
concerning future inflation rates

1. consistently overestimates the actual rate of inflation in the future
2. are always correct
3.  consistently underestimates the actual rate of inflation in the future

4. are correct on an average but are subject to errors that are distnbuted
randomly

Options:

4635069991, 1
64535069992, 2
64535069993 2
645350699394, 4

Question Number : 74 Question Id : 64635017823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635069991, 1
64535069992, 2
64535069993 2
4835089994 4

Question Number : 75 Question Id : 64635017824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A foreign exchange risk involves the transaction exposure, the accounting exposure and
1.  the translation exposure
2. the flexability exposure
3. therigidity exposure

4. the economic exposure

Options:

64535069995, 1
64535069396, 2
48350899397 2
64535069995, 4

Question Number : 75 Question Id : 64635017824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535069995, 1
64535069996, 2
64535069397, 2
64535069395, 4

Question Number : 76 Question Id : 64635017825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Three pillars of the Asia-Pacific Economic Cooperation (APEC) are
(a) trade and investment liberalization
(b) business facilitation
(c) economic and technical cooperation
(d) military cooperation
Choose the correct option :
L. (a), (b), (&)
2. (a) () (0
3. (&), (0), (d
4. (b), (¢), (d)

Options:

4535069990, 1
4535070000, 2
64535070001, =
64535070002, 4

Question Number : 76 Question Id : 64635017825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
453506959599, 1

E4E3507 0000, 2
G4E35070001. 3
BAE3507000Z. 4

Question Number : 77 Question Id : 64635017826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The excess supply of a commodity above the no-trade equlibrium price gives one
nation’s
1.  import demand for the commodity
2. export supply and import demand for the commodity
3.  export supply of the commodity

4. 1mport supply of the commodity

Options:

64535070003, 1
64535070004, 2
4825070005 2
E4E35070006. 4

Question Number : 77 Question Id : 64635017826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835070003, 1
4535070004, 2
4535070005, 2
64535070006, 4

Question Number : 78 Question Id : 64635017827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following items is included in the Capital Account of the balance of
payments of a country?

[

[nvestment income
2. Invisibles
3.  Commercial borrowings

4, Private transfer

Options:

4535070007, 1
4535070008, 2
64535070009, =
64535070010, 4

Question Number : 78 Question Id : 64635017827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070007, 1
64535070008, 2
E4E35070009. 2
4535070010, 4

Question Number : 79 Question Id : 64635017828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the Balance of Payments Account, the transfer payments are included in which one
of the following?

et

Capital Account
2. Service Account

3. Current Account

i

(Official Reserves Account

Options:

64535070011, 1
64535070012 2
64535070013 =
64535070014, 4

Question Number : 79 Question Id : 64635017828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635070011, 1
64535070012 2
64535070013 =
64535070014, 4

Question Number : 80 Question Id : 64635017829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Calculate the rate of effective protection by using the formula g = ?‘- g i

{

a =08 and ¢, =0, then the value of fis

1. 02
2. 03

3. 0

Options:

64635070015, 1
4835070016, 2
4535070017, 5
64535070018, 4

Question Number : 80 Question Id : 64635017829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. -2

2. 03

3. 6l

4. 04
Options:

E4E35070015. 1
EAE35070016. 2
B4E35070017. 3
64535070015, 4

Question Number : 81 Question Id : 64635017830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The provision under the membership clause of the IMF is that any country can become
a member, 1f

1.  the country 1s willing to be a member of the World Bank and willing to pay
all subscriptions in gold

2. the country is willing to be a member of the WTO and willing to pay all
subscriptions in gold

3.  the country is willing to be a member of the World Bank and willing to pay
subscription

4. the counfry is willing to be a member of UNO and willing to pay
subscription

Options:
4535070019, 1

EAEZ5070020. 2
EAEZ5070021. 3
BAEZS070022, 4

Question Number : 81 Question Id : 64635017830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070019, 1
64535070020, 2
64535070021, =
E4E35070022. 4

Question Number : 82 Question Id : 64635017831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Marshall-Lerner condition for the foreign exchange market to be stable,
the sum of the elasticities of demand for imports and the demand for exports should be

1. lessthan 1
2. equal to zero
3.  equaltol

4.  more than 1

Options:

4535070023, 1
64535070024, 2
64535070025, 2
4835070026, 4

Question Number : 82 Question Id : 64635017831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070023, 1
4835070024, 2
4535070025 2
4535070026, 4

Question Number : 83 Question Id : 64635017832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The commodity or Net Barter Terms of trade are represented by the formula

L quan’r:flty of ff:xpoﬂs <100
quantity of imports

5 p11l_ce X quant:-lty of fe:xpcnrts 100
price x quantity of imports

3 volume Df.expmts <100
volume of imports

4 prllce ‘111dex Dflexports (100
price index of imports

Options:

EAEZ5070027. 1
EAE3507 0028, 2
BAE35070025. 3
BAE35070030. 4

Question Number : 83 Question Id : 64635017832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E35070027. 1

EAEZ507 0025, 2
EAE35070023. 3
BAE35070020. 4

Question Number : 84 Question Id : 64635017833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Immuserizing growth’ 1s the term given by

[—

Amartya Sen
2. N.Kaldor
3.  Paul Krugman

4.  Jagdish Bhagwat
Options:
64535070021, 1
EdeZ5070032. 2
4235070033 2
64635070034, 4

Question Number : 84 Question Id : 64635017833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535070031, 1
64535070032, 2
64535070032, 5
64535070034, 4

Question Number : 85 Question Id : 64635017834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following factors 1s NOT the cause for “market failure’?

[

Asymmetric information
2. Public goods
3.  Externality

4, Lack of demand

Options:

4835070035, 1
4535070036, 2
64535070037, 3
64535070038, 4

Question Number : 85 Question Id : 64635017834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4835070035, 1
E4E350700326. 2
64535070037, 5
4535070038, 4

Question Number : 86 Question Id : 64635017835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s an example of a public good?
1.  Residential building
2. National defence
3.  Restaurant meals

4. Swimming pool of a house

Options:

645350700339, 1
E4E35070040. 2
4535070041, 5
4535070042 4

Question Number : 86 Question Id : 64635017835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4825070039, 1
4535070040, 2
64535070041, 5
4535070042, 4

Question Number : 87 Question Id : 64635017836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A tax is said to be direct, when

va—

impact and incidence fall upon the same person
2. onlyincidence falls upon the same person
3. 1mpact 1s shifted to another person

4,  personescapes from paying tax

Options:

64535070043, 1
E4E35070044, 2
E4535070045, 5
4535070046, 4

Question Number : 87 Question Id : 64635017836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070043, 1
4835070044, 2
4535070045 =2
64535070046, 4

Question Number : 88 Question Id : 64635017837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A toll tax 1s a tax based on which of the following?
1.  The benefit principle
2. Horzontal equity
3.  Vertical equuty

4.  Tax progressively

Options:

435070047 1
64535070048, 2
64535070049, 5
64535070050, 4

Question Number : 88 Question Id : 64635017837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

EAE3507 0047,
EAE3507 0045,
64535070045,
64535070050,

Question Number

a4 &1 gia
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1 89 Question Id : 64635017838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Vertical equity in taxation means that

1.  people in different income groups should be taxed equally

2. people in different income groups should be taxed differently

3. people in different groups should be charged proportionately

4. unequal people should be treated equally

Options:

64535070051
64535070052
E4E3507 0052
4535070054

Question Number

.1
L2
.3
.4

: 89 Question Id : 64635017838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

64535070051, 1
E4E35070052. 2
4535070052 2
4535070054, 4

Question Number : 90 Question Id : 64635017839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT part of Wiseman and Peacock hypothesis?

1. Concentration effect

b3

Displacement effect
3.  Inspection effect

4. Taxation effect

Options:

64835070055, 1
E4E35070056. 2
64535070057, 5
4535070058, 4

Question Number : 90 Question Id : 64635017839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

arEeEe 3R fUwie tRew o1 Fafafed 4 3 aF- wrag 22
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2. [I®ImE pHE
3. e pyE

4. AU UHIG
Options:
64535070055, 1
64G35070056. 2
G4AE3E070057. 2
64535070058, 4

Question Number : 91 Question Id : 64635017840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following 1s NOT the method of debt redemption?

1. Refunding

b2

Repudiation
3. Sinking fund

4.  Capital levy

Options:

4825070059, 1
E4E350700E80. 2
45350700681, 5
4535070062, 4

Question Number : 91 Question Id : 64635017840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. gAHREE
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4. O
Options:

B4535070055. 1
4535070080, 2
4535070081, 3
EABEZS0700EZ, 4

Question Number : 92 Question Id : 64635017841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The concept of fiscal deficit implies which of the following?
1.  Revemue and inferest receipts minus revemue expendifure

2. Revenue receipts and recovery of loans and other receipts minus total
expenditure

3. Receipts minus disbursement in Capital Account

4. Total receipts minus total expenditure

Options:

64535070063, 1
64535070064, 2
E4E350700E5. 2
E4E350700E86. 4

Question Number : 92 Question Id : 64635017841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070063, 1
E4E35070064, 2
4535070085, 2
4535070066, 4

Question Number : 93 Question Id : 64635017842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Durnng recession which of the following measures 1s imtiated?
1.  Cutting taxes and boosting government spending
2. Increasing taxes and decreasing government spending
3.  Keeping tax rates constant and increasing government spending

4. Increasing tax rates and keeping government spending constant

Options:

64535070067, 1
64535070068, 2
E4E35070089. 2
E4E35070070. 4

Question Number : 93 Question Id : 64635017842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070067, 1
64535070068, 2
4835070089 2
4535070070, 4

Question Number : 94 Question Id : 64635017843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During a depression which of the following policy instruments should be used?
1.  Taxes should be increased
2. Taxes are kept unchanged and public expenditure 1s increased
3.  Public expenditure is reduced

4.  There should be a balanced budget

Options:

64535070071, 1
64535070072, 2
E4E35070072. 2
E4E35070074, 4

Question Number : 94 Question Id : 64635017843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070071, 1
E4E3S070072. 2
4535070072, 5
4535070074, 4

et

Question Number : 95 Question Id : 64635017844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Under which system the central bank is authonised by law to issue a fixed amount of
notes against government securities and any excess 1s to be fully backed by gold/silver?

1.  Maximum fiduciary system
2. Mimmum reserve system
3.  Fixed fiduciary system

4. Maximum and mimimum fidueciary system

Options:

4535070075, 1
64535070076, 2
64535070077, 2
E4E35070078. 4

Question Number : 95 Question Id : 64635017844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535070075, 1
64535070076, 2
64535070077, 2
E4E35070078. 4

e

Question Number : 96 Question Id : 64635017845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Liquidity approach 1s also known by the name

=

Gurley-Shaw approach
2. Radcliffe approach
3.  Traditional approach

4. Monetarnist approach

Options:

64535070079, 1
64535070030, 2
4835070021, 2
E4E35070082. 4

Question Number : 96 Question Id : 64635017845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070079, 1
E4E35070020. 2
45350700281, 2
4535070082, 4

Question Number : 97 Question Id : 64635017846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



External drains leave which type of impact on commercial bank?
1.  Lowers the reserves of bank
2. Increases further deposits
3.  Increases credit creation

4. Creates demand deposits

Options:

64535070083, 1
64535070084, 2
64535070085, =
E4E35070036. 4

Question Number : 97 Question Id : 64635017846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535070083, 1
64535070084, 2
645350700385 2
4835070026, 4

Question Number : 98 Question Id : 64635017847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which consideration a commercial bank does NOT keep in mind to manage its assets
and liabilities?

==t

Liquidity
2. Profitability
3.  Solvency

4. Equity

Options:

4535070087, 1
64535070088, 2
64535070039, 2
E4E350700390. 4

Question Number : 98 Question Id : 64635017847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

46350700587, 1
64535070088, 2
64535070089, =
645350700390, 4

Question Number : 99 Question Id : 64635017848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which is NOT the main objective of credit control?
1. Stabilization of general price level
2. Promoting economic growth
3.  Ensuring adequate flow of credit to productive sectors

4. Promoting economic welfare

Options:

64535070091, 1
645350700392, 2
64535070093 =
4835070094, 4

Question Number : 99 Question Id : 64635017848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835070091, 1
4535070092, 2
64535070092, 5
64535070094, 4

Question Number : 100 Question Id : 64635017849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Direct credit programmes introduced

—d

security-oriented credit
2. development-oriented credit

3.  purpose-oriented credit

4.  welfare-oriented credit

Options:

4535070095, 1
4535070096, 2
64535070097, =
64535070038, 4

Question Number : 100 Question 1d : 64635017849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4825070095, 1
E4E3507009E. 2
64535070097, 5
4535070098, 4

Question Number : 101 Question Id : 64635017850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II

(a)
(b)
(©)
(d)

List-1 List-I
(Institutions) (Established)
ICICI (1) 1971
IRBI (1) 1964
IFCI (i) 1955
IDBI 1v) 1948

Chose the correct option from those given below :

I
Z;
3.

4.

Options:

BAE35070035,
64535070100,
64535070101,
E4E3507010Z,

Question Number

(a)-Q); (b)~(11); (c)(ii1); (d)-(1v)
(a)-(11); (b)—i1); ()—(iv); (A1)
(a)-(1); (b)-(1); (e)—1v); (dD)—(i1)
(a)-(111); (b)—(11); ()—(D); (d)—~(v)

o I P

: 101 Question Id : 64635017850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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() (RITCHT )
(a) om3 Hl 3mg . omg. G 1971
(b) oM SR §l 88 iy 1964
(c) o3 TH. 9. 3mg (iii) 1955
(d) o3 3t eng (iv) 1948

) frwen 0
(a)-(0); (B~ ()i, (d-(iv)
()i (B)i); ()~(iv); (@)~
()ii); (B1-0); ()~(iv); (A~
(ay(i); (B)-6i): (1-); (-GG

[

r

e o

Options:

64535070099,
E4E35070100,
4535070101,
4535070102,

o IR

Question Number : 102 Question Id : 64635017851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s NOT the function of a capital market?
1.  Mobilising savings into investment
2. Channelising funds from less profitable to more profitable
3. Mobilising funds from surplus units to deficit units

4. Providing better returns to direct investors
Options:
64635070103
64635070104
64635070105,
64635070106,

[ N

Question Number : 102 Question Id : 64635017851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070103, 1
64535070104, 2
64535070105, 2
4835070106, 4

[—

Question Number : 103 Question Id : 64635017852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The liquidity aggregates are classified as
1. Li, LzandLs
2. M, M;and M;
3. NM;

4, M1, Mg, M3 a:nd M4

Options:

4535070107, 1
64535070108, 2
64535070109, =
64535070110, 4

Question Number : 103 Question 1d : 64635017852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

oRerd 999 &1 59 U A Fiffed fear mn 32
1. s Loy
2. M, M; 3R M;
3. NM;
4. M, M, M5 3R M,

Options:



EAE35070107. 1
64535070108, 2
64535070105, 3
64535070110, 4

Question Number : 104 Question Id : 64635017853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Marxian analysis the surplus value depends upon

ot

surplus and necessary labour time
2. necessary labour time only
3. surplus labour time only

4. normunal wage rate

Options:
4525070111, 1

EAE35070112. 2
E4E35070113. 3
64535070114, 4

Question Number : 104 Question 1d : 64635017853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535070111, 1
64535070112 2
64835070112 2
64535070114, 4

Question Number : 105 Question Id : 64635017854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I List-II
(a) Theory of big push (1) J. H. Boeke
(b) Warranted rate of growth (1)  Paul Romer
(¢} Social dualism (1)  Rosenstein-Rodan

(d) Endogenous growth theory (iv) R.F. Harrod

Choose the correct option from those given below :
L (a)-); (b)ii); (e)-(v); (1)
2. (a-(u); (D-; (@©-v); (1)
3. (ay(u); (b)-Gv); (e-); (d)—11)
4. (a)-(v); (b)—(w); (0)-(m); (1)
Options:
64635070115,
64635070116,

EAEZ5070117.
E4E35070118.

[

Question Number : 105 Question Id : 64635017854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(b) oz Egia® (i) oI
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L (@)-(i); (0)iid); (©)-v); ()0

s

(a)-(ii1); (b)-(1); (e)iv); (D)D)
3. (a)-ii); (b)-Gv); (c)1); (d)—(i1)
4. (a-(v); (b)-); (o)-(d); (1)

Options:

645350701151
4535070116, 2
64535070117, 2
645350701158, 4

Question Number : 106 Question Id : 64635017855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In J. Robinson’s growth model, capital accumulation depends on
1. saving-income ratio
2. profit-wage relation and labour productivity
3.  profit-income ratio and capital productivity
4.  saving-investment ratio

Options:

4535070119,
4535070120,
64535070121,
64535070122,

o LI M

Question Number : 106 Question 1d : 64635017855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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2. HATHI-AOE 98¢ SR 9 STeaHdl
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Options:

64535070119, 1
64535070120, 2
4535070121, 2
64535070122 4

Question Number : 107 Question Id : 64635017856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following growth models takes technology as exogenous variable?
1.  Solow model
2. Robinson model
3.  Lucas model

4.  Todaro model

Options:

64835070123, 1
64535070124, 2
64535070125, 5
64535070126, 4

Question Number : 107 Question Id : 64635017856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635070123, 1
64535070124, 2
64535070125, 2
4835070126, 4

Question Number : 108 Question Id : 64635017857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following does NOT determmne the amount of years of schooling
demanded by an individual to qualify for modern job?

1. The wage or income differential
2. The probability of success in finding modern sector employment
3.  Opportunity cost of schooling

4.  Expansion of healthcare infrastructure in urban sector

Options:

64535070127, 1
E4E35070128. 2
4835070129 2
64535070120, 4

Question Number : 108 Question Id : 64635017857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635070127, 1
4835070128 2
4835070129 2
64535070120, 4

=

Question Number : 109 Question Id : 64635017858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following 1s not associated with the endogenous growth theory?
1.  Robert Solow
2. Paul Romer
3. Rebelo

4.  Robert Lucas

Options:

64535070131, 1
64535070132 2
64835070122 2
4535070124 4

Question Number : 109 Question Id : 64635017858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350701211

E4E35070132. 2
EAE35070133. 3
E4E35070134. 4

Question Number : 110 Question Id : 64635017859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one is NOT axiom of inequality measures?

[

Principle of scale invariance

2. Principle of equity

3.  Principle of translation invariance
4. Axiom of decomposibility

Options:

64535070135, 1
E4E35070136. 2
E4E35070127. 2
64535070128, 4

Question Number : 110 Question Id : 64635017859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350701351
E4E350701326. 2
64535070137, 5
64535070128, 4

Sub-Section Number: 6
Sub-Section Id: 646350868
Question Shuffling Allowed : Yes

Question Id : 64635017860 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (111 to 113)
Cesticn Label | Comprehiension

Direction : Consider the following table that gives the monthly per capita consumption
expenditure (MPCE) of eight households and answer the questions given below :

TABLE
State MPCE (in Rs) of 8 Households
1 2 3 4 s 6 i 8

State—A | 950 1100 1000 975 750 775 790 1400

State—B | 1250 1150 1400 1100 550 600 490 1200

The value of Z (poverty line MPCE cut off) is Rs 800.

Sub questions

Question Number : 111 Question Id : 64635017861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Estimate of head count ratio in State—A and State—B are
I State—A : 0-375; State—B : 0-375
. State—A : 0-475; State—B : 0-375
¥, State—A : 0-575; State—B : 0-575

4.  State—A : 0-385; State—B : 0-425

Options:
4535070139 1

E4E35070140. 2
E4E35070141. 3
BAE3507014%. 4

Question Number : 112 Question Id : 64635017862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

From the table calculate the estimates of Poverty Gap Ratio (PGR) for State—A and
State—B and select the correct option :

L: State—A : 0-133; State—B : 0:-0119
2. State—A ; 0-153; State—B : 0-0135
2 State—A : 0-0133; State—B : 0-119

4.  State—A : 0-0153; State—B : 0-135

Options:

64535070143, 1
4835070144, 2
4535070145, 5
64535070146, 4

Question Number : 113 Question Id : 64635017863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the table calculate the estimates of Square Poverty Gap Ratio (SPGR) and then
show that the SPGR in State—A 1s

1. same as in State—B
2. higher than that in State—B
3. lower than that in State—B

4. signficantly different from zero

Options:

64535070147, 1
4835070148, 2
4535070149, 5
64535070150, 4

Question Id : 64635017860 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (111 to 113)
Cesticn Label | Comprehension
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1 2 3 4 5 6 7 8

qod—A 950 1100 1000 g7 750 775 790 1400

Iod—B 1250 1150 1400 1100 550 600 490 1200
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Sub questions

Question Number : 111 Question Id : 64635017861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070139,
64535070140,
64535070141,
4835070142,

[ N Y

Question Number : 112 Question Id : 64635017862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TF—A 3R IT59—B H &Afad 91 U BT 330 ¢
1. WSE—A:0-375,9—B : 0-375
2. TSH—A: 0475, T9—B : 0-375
3. TSH—A: 0575, TT—B: 0-575
4. TG —A:0-385 ITT—B: 0-425
Options:
64535070143,
4835070144,

64535070145,
EAEZ507014E,

o IR

Question Number : 113 Question Id : 64635017863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. WSG—A: 0133, 39—B : 0-0119
2. USO—A 0153, 9—B : 00135
3. IS9—A 00133, I9—B: 0-119

4. TUSG—A :0-0153, T9—B: 0-135

Options:

64835070147, 1
4535070148, 2
64535070149, 5
64535070150 4

Sub-Section Number: 7
Sub-Section |1 d: 646350869
Question Shuffling Allowed : Yes

Question Number : 114 Question Id : 64635017864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Market failure occurs in case of most of the environmental goods, because

1.  environmental goods are nival products
2. environmental goods are excludable products
3.  environmental goods are non-rival in production

4. environmental goods are non-rnival and non-excludable in consumption

Options:

4635070151, 1
64535070152, 2
64535070153 =
64535070154, 4

Question Number : 114 Question 1d : 64635017864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635070151, 1
E4E35070152. 2
64535070152 5
64535070154, 4

Question Number : 115 Question Id : 64635017865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The IRR is the discount rate that equates the project NPV to and benefit-cost
ratio to

|

2. Bl

3. 0,0

4, L]
Options:

E4535070155. 1
64535070156, 2
64535070157, 3
64535070158, 4

Question Number : 115 Question Id : 64635017865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835070155, 1
4535070156, 2
64535070157, 5
64535070158, 4

Question Number : 116 Question Id : 64635017866 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The “hedonic price’ method measures the value of environmental assets through

1.  using ‘existence’ of an environmental asset
2. using linkages between vanations of inhouse prices
3. using WTP to value of environmental asset
4. using WTA to value of environmental asset

Options:

64635070159,

64635070160,

1
2
64535070161, 3
EAE3507016Z. 4

Question Number : 116 Question Id : 64635017866 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070159, 1
E4E35070160. 2
4535070161, 2
64535070162, 4

Question Number : 117 Question Id : 64635017867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I with List—II :

List-I List-II
(a) World Environment Day (1) 11th July
(b) World Wildlife Day (1)  5th June
(¢) World Water Day (1)  3rd March
(d) World Population Day (iv)  22nd March

Choose the correct option from those given below :
(a)—(1); (b)(1); (e)H{1n); (d)—(1v)
2. (&), (b)1); (@), (1)
3. (a)-(v); (b)), (e)-(11); (D)—~1)
4. (a)-); (b)-(u); (c)-(v); (d)—H1)

Options:

64635070163, 1
4835070164, 2
4535070165 2
64535070166, 4

el



Question Number : 117 Question Id : 64635017867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(¢) fay o feaw
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1. (a)-); (b)—u); (¢)—(m); (d)-(v)
2. (a)y-(ui); (b)-); (c)1v); (d)—(11)
3. (a)v); (b)-(i); (c)-(11); (d)1)
4. (a)(ii); (b)ii); (c)-({v); (1)

Options:

E4EZE070163 1

C4E35070164. 2

C4EZE070165. 2

CAEZE0701EE. 4

Question Number

4y

(1)
(iii)
(1v)

-1

5 o
3 "
22 AR

: 118 Question Id : 64635017868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Under some conditions, it makes no difference to efficiency whether the polluter has
a right to pollute or the victim has a right to clean air.” This statement is related to the

work of :
L.
2.
3.
4.

Options:

(G. Hardin
R. Coase
N. Kaldor

Juhian Simon



EAE35070167. 1
64535070168, 2
645350701645, 3
64535070170, 4

Question Number : 118 Question Id : 64635017868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070167, 1
64535070168, 2
4835070169 2
4835070170, 4

Question Number : 119 Question Id : 64635017869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following items completes the life table?

Age 1. d. L i e’
7 90,000 500 89,750 48,50,000 ?
1. 50-50
£ 54-00
3. 5389
4. 31-3
Options:

645350701711
64535070172 2
64535070173, 3



EAE35070174. 4

Question Number : 119 Question Id : 64635017869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fAmiferd § ¥ ®19-91 A5 offas 9Roft @1 guf o g2

3 L d. L, T, e
7 90,000 500 89,750 48.,50,000 ?
1. 50-50
2. 54-00
3. 9389
g, Hil-3]

Options:

64635070171, 1
64535070172 2
64535070173, 2
4835070174, 4

Question Number : 120 Question Id : 64635017870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—IT :

List-I List-I1
(a) Thomos Doubleday (1) Destiny theory
(b) Thomas Sadler (1)  Biological theory
(¢) Leibenstein (i11)  Diet theory
(d) Herbert Spencer (iv) Motivation theory of
population growth

Choose the correct option from those given below :
1. (a)-Q); (b)—w); (c)—(m); (d)-(iv)
2. (a)-ir);, (b)—1); (e)Hiv); (d)—(i1)
3. (a)-Qv); ), (o)), (DD
4. (a)-Qv); (b)-(w); (¢)-(); (d)~(111)

Options:

4635070175, 1
64535070176 2
64535070177, 2
64535070178, 4

Question Number : 120 Question Id : 64635017870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)-(1); (b)—(i1); (e)-(iii); (d)—(iv)
2. (a)y(ii); (D)-); (0)—(v); (d)-(1i)
3. (a)w); (b)-(u1); (c)-(1); (1)
4. (@-(v); (0)-); (e)-@); (d)—()

ot

Options:
4535070175,

EAE3507017E6,
BAE35070177.
64535070178,

[ N I

Question Number : 121 Question 1d : 64635017871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who propounded optimum theory of population?
1. Robbins
2. Dalton
3. Cannan
4. Carr Saunders
Options:
64635070179, 1
64635070180, 2

64535070181, 3
64535070182, 4



Question Number : 121 Question Id : 64635017871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

64635070179, 1
64535070180 2
64535070181, =
E4E350701382. 4

Question Number : 122 Question 1d : 64635017872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

What 1s the equation of corrected birthrate?

1. Corrected birthrate =

Registered births in one year + Possible birth

Mid year population

Live births in one year

=1000

2. Corrected birthrate = _ :
Mid year population
3. Corrected birthrate = Nmber of femnale l?lfths
Mid year population

4.  Corrected birthrate =

Registered births + Possible births

Mid year female population

Options:

64535070183, 1
64535070134, 2
64835070185 2
4535070156, 4

= 1000

Question Number : 122 Question Id : 64635017872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:
E4E2E070182. 1

EAE35070184. 2
E4E35070185. 3
B4E35070186. 4

Question Number : 123 Question 1d : 64635017873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which age structure is important for demographic dividend?
1.  0-14
2. 1559
3. 60 and above

4. 0-14 and 60 and above

Options:

64535070187, 1
64535070188, 2
64535070189, =
645350701390, 4

Question Number : 123 Question 1d : 64635017873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 0-14
2. 1559
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Options:

64535070187, 1
64535070188, 2
645350701389, 2
48350701390, 4

Question Number : 124 Question Id : 64635017874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In 2011 the proportion of urban population was more than 40 percent in the States of
1. Taml Nadu, Punjab, Andhra Pradesh, Gujarat
2. Tamul Nadu, Haryana, Gujarat, Maharashtra
3.  Tamul Nadu, Kerala, Andhra Pradesh, West Bengal

4. Taml Nadu, Kerala, Maharashtra, Gujarat

Options:

64535070191, 1
64535070192, 2
4835070192 2
64535070194, 4

Question Number : 124 Question Id : 64635017874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
45350701451, 1

E4E350701382. 2
E4E350701393. 3
B4E350701394. 4

Question Number : 125 Question Id : 64635017875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Second Natfional Commission on Labour has recommended a three-tier system
including

1. Lok Adalats, Labour Courts and Labour Commuission
2. Lok Adalats, Labour Courts and Labour Relations Commssion

3. Lok Adalats, Labour Courts and Judicial Courts

4. Lok Adalats, Labour Courts and Labour Inspectors

Options:

64535070195, 1
64535070196, 2
4835070197, 2
4535070198, 4

Question Number : 125 Question Id : 64635017875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070195, 1
64535070196, 2
64535070197, 2
4835070198 4

Question Number : 126 Question Id : 64635017876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Under TRIPS protection for copyrights 1s for
1. 20 vears after death of the author
2. 30 vears after death of the author
3. 40 vears after death of the author

4. 50 years after death of the author

Options:

4535070199, 1
64535070200, 2
64535070201, =
64535070202, 4

Question Number : 126 Question Id : 64635017876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835070199, 1
4835070200, 2
64535070201, 5
4535070202, 4

Question Number : 127 Question Id : 64635017877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

National Food Security Law covers
1. 65% of rural population
2. T70% of rural population
3.  75% of rural population

4. 80% of rural population

Options:

4835070203, 1
4835070204, 2
64535070205, 5
4535070206, 4

Question Number : 127 Question Id : 64635017877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635070203, 1
E4E35070204. 2
4535070205, 5
4535070206, 4

Question Number : 128 Question Id : 64635017878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT part of the ‘PM Kisan Samman Nidhi’® scheme as
announced on 1-02-20197

1. All farmers having land holdings up to 2 hectares are eligible under the
scheme

2. The scheme will be applicable from Ist Apnl, 2019

3.  The government will transfer Rs 6,000 per annum into the bank accounts of
eligible beneficiaries

4. The money will be given in three equal instalments of Rs 2000 each

Options:

64535070207, 1
E4E35070208. 2
4535070209 2
64535070210, 4

Question Number : 128 Question Id : 64635017878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835070207, 1
E4E35070208. 2
64535070209, 5
64535070210, 4

Question Number : 129 Question Id : 64635017879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT correct with reference to the service sector of Indian
economy?

1.  Service sector has the largest share in the GDP
2. Service sector has the largest share in employment
3. Service sector’s growth has been higher than growth of agriculture sector

4. Productivity per worker in service sector is highest

Options:

64835070211, 1
E4E35070212. 2
64535070212,
4535070214, 4

Question Number : 129 Question Id : 64635017879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350702111

EAE35070212. 2
EAE35070213. 3
BAE35070214. 4

Question Number : 130 Question Id : 64635017880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The RBI made Indian rupee fully convertible in current account transactions related to
goods and services in the year

1. 1985
2. 2002
3. 1994
4. 2011

Options:

64535070215, 1
64535070216, 2
E4E35070217. 2
4535070218, 4

Question Number : 130 Question Id : 64635017880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. 1985
2. 2002
3. 1994
4. 2011

Options:

64535070215, 1
E4E35070216. 2
4535070217, 2
64535070218, 4

Question Number : 131 Question Id : 64635017881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Education as investment in human resources plays an important role among the factors
which contribute to economic growth.” This statement was given by

1. New Education Policy, 1985
2.  Education Comnussion, 1966
3. NCERT

4. Supreme Court of India

Options:

64635070219, 1
64535070220 2
64535070221, 2
E4E35070222. 4

Question Number : 131 Question Id : 64635017881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Hra ST | Ren & wU A 799 37 oRe! & 99 te geegyt Yiher e 8 S
3nfie Hafe # diTe &d €17 98 SUF fhad/feges g faan m a1

1. s fRuem i, 1985
2. e emam, 1966

3. mTHEHLE AR A

4. HRAOW gal TR

Options:

64535070219, 1
64535070220, 2
4835070221, 2
E4E35070222. 4

Question Number : 132 Question Id : 64635017882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is NOT an instrument of capital market with special reference
to India?

1.  Equty share
2.  Debenture
3. Gold ETF

4. Commercial paper

Options:

4635070223, 1
64535070224, 2
64535070225, 2
64535070226, 4

Question Number : 132 Question 1d : 64635017882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFHfeed d 9 ®1F-91 4R & 3R deH | Uol 919k & U% 91 & U H A6l 67
1. sBdIR

2. fea=R
3. U3 o Um
4. groieos oA

Options:

4835070223, 1
E4E35070224. 2
64535070225, 5
4535070226, 4

Question Number : 133 Question Id : 64635017883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The share of the non-commodity sector in the national income has been
increasing in India.

Reason (R) : Industry and Agriculture have been growing at a relatively slower pace
in India.

Choose the correct answer from the options given below :
1. Both(A)and (R) are true and (R) explains (A)
2. Both {A) and (R are true but (R) does not explain (A)
3.  (A)is true but (R)1s false
4. (A)is false but (R) is true

Options:

4535070227, 1
64535070228, 2
64535070229, 2
4835070220 4

Question Number : 133 Question 1d : 64635017883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



NBHYT(A) : HRA D! IPH 3 B IR-a5] & & R 7 i @ @i 2

% (R) . YRT A TN AR PR amenepd U ofte divft nfa | oM 3¢ © B
13 fom o et & @ 98 TR

. (A) dR(R) T FE E T (R), (A) BTSN HETE

2. (A)IRER) I T BRFGR), (A) Pt omem T owad

3. (A)wdeFgR) A

4. (A)TEAE g R) TR

Options:

4535070227, 1
4535070228, 2
64535070229, 2
64535070230, 4

Question Number : 134 Question 1d : 64635017884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a binomial distribution, the probability of x successes in » trials in any order is given
by

l.  px)="C.p"q"™"
5, p(x):nqux.gn—!
3. px)="C,p*q"

4 A=t gt

Options:

45350702311
64535070232, 2
64535070232, 5
64535070234, 4

Question Number : 134 Question Id : 64635017884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. pE)="Cp g™

r—1

2. plx)="Cp*q
3. pe="C pg™
4. p)="Cp"q""

Options:

64535070231, 1
64535070232 2
64535070233 2
64535070234, 4

Question Number : 135 Question 1d : 64635017885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The correct relationship among Arthmetic Mean (AM), Geometric Mean (GM) and
Harmonic Mean (HM) is

1. GM=AM+HM

2. AM<HM

3.  [GM]*=HM x AM

4. AM=GM -HM

Options:

64835070235, 1
64535070236, 2
64535070237, 2
64535070238, 4

Question Number : 135 Question Id : 64635017885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



THIOR |17 (U UH), SR /e (S UF) iR &S HI (U9, UH) & di9 I8! Jay 31
g &

. Ol.UH.=TTUH+TITH
2. U UH <Td. TH.
3. [SRUA)]=T3.UHxT.TH
4. U UH =4 UH -TI.TH
Options:
CdeZ5070225 1
CAdeZE0F70236. 2

E4E35070237. 3
EAEZ5070235. 4

Question Number : 136 Question Id : 64635017886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For a moderately skewed distribution, the value of mode 1s 10 and value of median is
20. Then the mean is

L. 3
2z S0
3y 23
4. 35

Options:

4835070239, 1
4535070240, 2
64535070241, 5
4535070242, 4

Question Number : 136 Question Id : 64635017886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



% I 0 § faud feww & foe sga@ &1 99 10 iR A1iEm &1 A 20 81 AT &
g

e I3
2. 30
&, 2a
4. 35

Options:

64535070239, 1
64535070240, 2
64535070241, 2
E4E35070242. 4

Question Number : 137 Question Id : 64635017887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Standard Emor (SE) of sample mean (x) in random sampling from an infinite
population or in random sampling with replacement is given by

2

.  SE=-"_where o is the population standard deviation

i

2. SE= —=where G is the population standard deviation

Jn?

3
3. SE= —— where o 1s the population standard deviation

Jn

o

Jn

4. SE= where o 1s the population standard deviation

Options:
435070243 1

EAEZ507 0244, 2
E4E3507 0245, 3
BAE35070246. 4

Question Number : 137 Question Id : 64635017887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T HiHT T-He & TR Uide YUdl ViaRTT & I Jefes® Uaew= § uides
1 (x) B 7S 3 (@9, 3) Ao A I fad v gt 82

2
1. wWE= GT W8l ¢ T 9S HFS A9 &
it

) wr . s
2. TH.3.= 2 WEl ¢ SFEe AF fages ©

0
i ﬁ

3, T.E= 5 OIEl ¢ SFYEI A A9 o
It

4. TH3Z= % el ¢ SR A A9 &

Pt

Options:

64535070243, 1
64535070244, 2
64835070245 2
E4E35070246. 4

Question Number : 138 Question Id : 64635017888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
When the null hypothesis 1s there as an equality, the level of significance 1s the
probability of making
1.  type Il error
2.  typelerror
3. typeland Il errors

4. type I and III errors

Options:

4635070247, 1
64535070248, 2
64535070249 =
64535070250, 4

Question Number : 138 Question 1d : 64635017888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O¥ Y URSGeU U Ul & ¥ H [FEE 8 d 7ew @ &R FEiiea J 9 et
HHT 27

1. TEUIlik
2. TRUIFR
3. TRUINRIIFR
4. TRUISMRINFR

Options:

64535070247, 1
E4E35070248. 2
64535070249, 5
4535070250, 4

Question Number : 139 Question Id : 64635017889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a two variable (X and I) regression analysis, the regression coefficients are by, = 0-6
and by, = 0-8. If y 1s dependent variable and x 1s independent variable, what is the
percentage of variations in ¥ explained by X7

1. 47%
2. 48%
3. 49%
4. 36%

Options:

64535070251, 1
64535070252, 2
64835070252 2
4535070254 4

Question Number : 139 Question Id : 64635017889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



% fgaR (X 3R ¥) vaimee fa=esor ® gdige= s b, = 0-6 3R b, =08 Bl dG y
T =R R x e TR E, ALY GRI B T8 AR & 3R ¥ § e yferraar & 82

1. 47%
2. 48%
3. 4%

4. 36%
Options:
64535070251,
64535070252,
4835070253,
4835070254,

[ N

Question Number : 140 Question Id : 64635017890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List-II :

List-I List-II
(a) Gauss-Markov i) R?
(b) Coefficient of determination (11)  One sided test
(¢) Hy:B,=0,H;:B,=70 (1)  Goldfeld-Quandt test

(d) Heteroscedasticity (iv) BLUE

Choose the correct option from those given below :

L (a)v); (b)-Q1); (e)—n); (d)—(111)
2. (a)-@); (b)); ()av); (d)~(11)
3. (a)y-(); (B-u); (¢)-0); (d)-0v)
4. (a)-(ii); (b)-D); (0)11); (d)-(v)

Options:

64635070255, 1

64635070256, 2

BAE35070257. 3
64535070258, 4



Question Number : 140 Question Id : 64635017890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gH1-1 &1 -1 gAferd Hifere :
-1 -1

(@) TITg-AIHTE i R’
(b) R &1 oS (i)  UHALHI G
(¢) Ho:B:=0,H;: B,=70 (i) Ticshoe-Hrs e
(d) fasmfaarferar (ivi BLUE
e fdweu g :

L (a)-(iv); (b)-@); (e)-(1); (d)-ii)
2. (@-1); (D)D) (©)—v); (i)
3. (a)-(); (B)-Giy); (e)-D); (d-Gv)
4. (a-u); (0)-1); (e)—(1); (d)—v)

Options:
4535070255, 1

EAE3507 0256, 2
BAE3507 0257, 3
64535070258, 4

Question Number : 141 Question 1d : 64635017891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Multiplicative decomposition model is used to
1.  deseasonalise the fime series data
2. buld cost of living index
3.  test a hypothesis

4.  estimate probability

Options:
E4AE2E0702559. 1

EAEZ507 0260, 2



EAEZ507 0261,
BAE3S07 0262,

Question Number

:
4

: 141 Question Id : 64635017891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

U [aTe ol Hisd e feTe e oo o 87

I

Options:

EAE3507 0259,
BAE3507 0260,
4535070261,
E4E3507 0262,

Question Number

Sita alg o0a Ya&ie o1 FHafr
Ue U@ =1 &1 udiemr

HHTSHE BT HTHA-

[ N

: 142 Question Id : 64635017892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List—I with List-II :

(@)
(b)

(d)

List-I List-I1I
Skewness (1) Dispersion
Vanance (1)  Random variation
Earthquake (i11)  Ratio of variances
F-test (iv)  Lack of symmetry

Choose the correct option from those given below :

1

2.

(a)-(11); (b)-(1v); (c)-(1); (D)i1)
(a)-(v); (b)—(1); (c)-(u); (d)-(i11)
(a)-(@); (B)—(u1); (¢)-v); (D—i1)
(a)-(i1); (b)—1); (e)~(iv); (d)ii1)



Options:

64535070263, 1
E4E35070264. 2
E4E350702E5. 2
4535070266, 4

Question Number : 142 Question Id : 64635017892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TE-1 B gE-1l I gafed sifon ;
a1 -1

(@) fqwHa i)  velvE

(b) wERUW (i) RS g
(c) YPw (i)  HEROT T SfFUrd
(d) P-udieqor (v)  IHEG BT HHE

Tel faeed gie :

1. (a)-(u1); (b)—(v); (c)—(1); (d)—(i1)
2. (a)y(v); (b)-1); (e)-1); (d)(iii)
3. (a)-); (b)), (¢)-1v); (d)i1)
4. (a)-(i1); (b)~1); (c)~{(1v); (d)—(ii1)

Options:

CAEZEE0F0ZE=Z 1

C4EZEQ7 0264, 2

EAE3507 0265, 3
EAE3507 0266, 4

Question Number : 143 Question Id : 64635017893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



6 5 5
It A=|3 -11 -5|, then |4|1s equal to

3 =y =2
. 15
2 16
3 27
4 20

Options:

64535070267, 1
64535070268, 2
4835070269, 2
E4E35070270. 4

Question Number : 143 Question Id : 64635017893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

6 5 5
afg 4=[3 -11 -5|,d 4| fPas Tage 82
3 =5 =8

1. 13
2. 16
3. 27

Options:

4535070267, 1
64535070268, 2
64535070269, 2
4835070270, 4

Question Number : 144 Question Id : 64635017894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If AR =15 and MR =5, the price elasticity of demand is

L. 23
2. 15
3 I=79
4. 1

Options:

64535070271, 1
64535070272, 2
E4E350702732. 2
E4E35070274. 4

Question Number : 144 Question Id : 64635017894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

giE AR=15.MR =5 g @AM S HHd A= ¢

L. 23
2 |5
3 IR
4. 1

Options:

64635070271, 1
E4E3S070272. 2
645350702732, 5
4535070274, 4

Question Number : 145 Question Id : 64635017895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Difference equation is concerned with
1.  discrete changes
2. continuous changes
3.  Both of the above

4, None of the above

Options:

64535070275, 1
64535070276, 2
E4E3S070277. 2
E4E35070278. 4

Question Number : 145 Question Id : 64635017895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e e fHad Iefia g2
. 3Had ufads
2.  Haduigds

3. Iuged aHl
4. I A DS Tl

Options:
E4E35070275. 1

EAEZE07027E. 2
EABZS070277. 3
BAE35070278. 4

Question Number : 146 Question Id : 64635017896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A linear programming problem can be solved by using
1. ARIMA techmques
2. Simplex method
3. Unit root method

4.  None of the above



Options:

64535070279, 1
E4E35070280. 2
4835070281, 2
4535070282, 4

Question Number : 146 Question Id : 64635017896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ue Y6 Hiaey g &1 gy Ryifed § 9 fous g fear of 9oar 82

1. Ui do-ie

2. fymoew vgfa

3. USo qaUEd

4. SUOEAITE T

Options:
4350702749, 1

EAE3507 0280, 2
EAE35070281. 3
EAEZ507 0282, 4

Question Number : 147 Question Id : 64635017897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In an open economy input-output model, the viability is examined by
1. Hawkins-Simon conditions
2. Kuhn-Tucker conditions
3.  Dickey-Fuller test

4. Goldfeld-Quandt test

Options:

64535070283, 1
64535070284, 2
64535070285, =
E4E35070286. 4

Question Number : 147 Question 1d : 64635017897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. efisy-argH gem

2. TE-cH oI

3. feol-par gdigo

4. TIcShes-Hige Te

Options:

64535070283, 1
64535070284, 2
E4E35070285. 2
645350702586, 4

Question Number : 148 Question Id : 64635017898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Applying OLS to simultaneous equations results in the parameters being

L. mefficient

8 inconsistent
3.  biased

4, biased and inconsistent

Options:

4535070287, 1
64535070288, 2
64535070289, 2
E4E35070290. 4

Question Number : 148 Question Id : 64635017898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3. U9, U9, &1 Uy FHIST TR TAIed &3+ § URUIH UrEel & 84 & B0 H g 2|

O o2 s
2. 9T
" "

4. USFH SR 3T



Options:

64535070287, 1
E4E35070288. 2
4535070289, 2
64535070290, 4

Question Number : 149 Question Id : 64635017899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The cost function of a monopolist is C = 40 + 12X. Write his demand function as
P =60 — 3X. What 1s his profit maximising output level?

L. 12
2 11
3 8
4. 9

Options:
435070291, 1

EAE3507 0232, 2
EAE3507 02393, 3
BAE3507 0294, 4

Question Number : 149 Question Id : 64635017899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U USSR &1 aNd BaT g C = 40 + 12X, I9HT °HiT BaT 39 JoR foer—
P =60 — 3X, 39 14 &I eifieaq s7F g fiid &1 W= @ g 2

L 12

2 11

3. 8

4. 9
Options:

EAE35070291. 1
BAE3507 0292, 2
BAE350702383. 3
64535070234, 4

Question Number : 150 Question Id : 64635017900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A simultaneous equation model is exactly identified, if
1.  umque numerical values of structural parameters can be obtained

2. more than one numerical value can be obtained for some of the parameters
of the structural equation

3. unique solution of all the structural coefficients is not possible
4. structural coefficient cannot be estimated

Options:

4535070295,
4535070296,
64535070297,
64535070298,

o LI M

Question Number : 150 Question Id : 64635017900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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2. %Tw@mﬁ%wﬂ%w#%@wmmmm

3. ofe ot TREeTHe uniet & o fafte gw Tva T 8

4. O GIEETES TN &1 HF Tl Tl o g gl

Options:
435070255, 1

EAE3507 0236, 2
EAE3507 0297, 3
EAE3507 02398, 4



